Name 	Class 	Date 	
Chapter 9 Test Review	Advanced Algebra

1.  Write a function that models each variation.  Find z when x = 4 and y = 9.

a.  z varies directly with x and inversely with y.  				1a.  ____________________
     When x = 6, and y = 2, z = 15.	
  
b.  z varies jointly with x and y.  						1b.  ____________________
     When x = 2 and y = 3, z = 60.

c.  z varies directly with the square of x and inversely with y.  		1c.  ____________________
    When x = 2 and y = 4, z = 3.

d.  z varies inversely with the product of x and y.  				1d.  ____________________
     When x = 2 and y = 4, z = 0.5.	


2.  Write an equation for the translation of  with the given asymptotes.
     a.  x = 1, y = –1	  							2a.  ____________________


     b.  x = 5, y = 								2b.  ____________________


3.  For each rational function, identify any holes or horizontal or vertical asymptotes of its graph.


     a.  	 							3a.  HOLES:  ____________
										VA:  ___________________

										HA:  ___________________


     b.  								3b.  HOLES:  ____________
										VA:  ___________________

										HA:  ___________________


     c.   	 						3c.  HOLES:  ____________
										VA:  ___________________

										HA:  ___________________


     d.  							3d.  HOLES:  ____________
										VA:  ___________________

										HA:  ___________________

     e.  								3e.  HOLES:  ____________
										VA:  ___________________

										HA:  ___________________
	

     f.  								3f.  HOLES:  ____________
										VA:  ___________________

										HA:  ___________________

4.  Simplify each rational expression. State any restrictions on the variable.


     a.  								4a.  ____________________

										REST:  _________________


     b.  							4b.  ____________________

										REST:  _________________


For Questions 5 – 8, perform the operation, simplify if possible and state any restrictions on the variable.


5.  								5.  _____________________
										REST:  _________________


6.  								6.  _____________________
										REST:  _________________


7.  								7.  _____________________
										REST:  _________________


8a.  									8a.  ____________________
										REST:  _________________


8b.										8b.  ____________________

										REST:  _________________
[bookmark: _GoBack]
For Questions 9 – 11, solve each equation. Check each solution.


9.  								9.  _____________________




10.   						10.  ____________________





11.  								11.  ____________________



For Questions 12 – 13, suppose Q and R are independent events.  Find P(Q and R).


12.  							12.  ____________________


13.  							13.  ____________________
	

For Questions 14 – 15, suppose S and T are mutually exclusive events.  Find P(S or T).


14.  							14.  ____________________


15.  							15.  ____________________


16.  A spinner is spun; find P(A or B).
a.  A = an even number							16a.  ___________________
     B = a number  3

b.  A = an odd number								16b.  ___________________
     B = a multiple of 2

c.  A = a number  3								16c.  ___________________
     B = a multiple of 3


17.  Suppose you have a CD which contains a compilation of songs. 	17.  ____________________
       Eight songs can be classified as rock, three as blues, and two 
       as jazz.  Today you hit the shuffle button on your CD player, 
       which plays the songs in a random order. Tomorrow you do the 
       same thing. What is the probability that the CD player plays a 
       blues song first each day?
image3.emf



3
xy
x



=
−










3

x

y

x

=

-


oleObject3.bin

image4.emf



2( 8)
(8 )
xy
x



− −
=



−










2( 8)

(8 )

x

y

x

- -

=

-


oleObject4.bin

image5.emf



( 3)
( 2)( 3)



xy
x x



+
=



+ +










( 3)

( 2)( 3)

x

y

x x

+

=

+ +


oleObject5.bin

image6.emf



5
( 2)( 3)



xy
x x



+
=



− −










5

( 2)( 3)

x

y

x x

+

=

- -


oleObject6.bin

image7.emf



1 3
4



y
x



= −
+










1

3

4

y

x

= -

+


oleObject7.bin

image8.emf



3 2
1



y
x



= −
−










3

2

1

y

x

= -

-


oleObject8.bin

image9.emf



2



2
3 12



6
x
x x



−



− −










2

2

3 12

6

x

x x

-

- -


oleObject9.bin

image10.emf



2 2



2
2



8 44 4 1
x x x



xx x
−



÷
−− +










2 2

2

2

8 4

4 4 1

x x x

x

x x

-

¸

-

- +


oleObject10.bin

image11.wmf
2

55

x

xx

+

+-


oleObject11.bin

image12.wmf
22

31

4

x

xx

-

-


oleObject12.bin

image13.wmf
2

3

77

1

y

y

y

+

-

-


oleObject13.bin

image14.emf



21
3



3 1
4 3



+



−










2

1

3

3 1

4 3

+

-


oleObject14.bin

image15.emf

image16.emf



y−3
5



=
y+1
y










y

-

3

5

=

y

+

1

y


Microsoft_Equation1.bin

image17.emf



7x +3
x2 −8x +15



+
3x
x − 5



=
1
3− x










7

x

+

3

x

2

-

8

x

+

15

+

3

x

x

-

5

=

1

3

-

x


Microsoft_Equation2.bin

image18.emf



1
2x



−
2
5x



=
1
2










1

2

x

-

2

5

x

=

1

2


Microsoft_Equation3.bin

image19.emf



P(Q) = 0.6,P(R) = 0.9










P(Q)

=

0.6,P(R)

=

0.9


Microsoft_Equation4.bin

image20.emf



P(Q) = 12
17
,P(R) = 3



8










P

(

Q

)

=

12

17

,

P

(

R

)

=

3

8


Microsoft_Equation5.bin

image21.emf



P(S) =12%,P(T ) = 27%










P(S)

=

12%,P(T)

=

27%


Microsoft_Equation6.bin

image22.emf



P(S) = 3
5
,P(T ) = 1



3










P

(

S

)

=

3

5

,

P

(

T

)

=

1

3


Microsoft_Equation7.bin

image23.jpeg




image24.png




image1.emf



=
2y
x










=

2

y

x


oleObject1.bin

image2.emf



1
2










1

2


oleObject2.bin

